sets (Problems 1 -7):

f(x)=|_x—3| at x =3
P9 ..
2. f@)= { x-3 if x 2 3
| 0 if'.r=3'
atx =3
" f(x):{x—4 if -1 <x <2
_x2—6 if 2 <cx <5
catx =2
[x*-27
4 fo - 2 _9 if x # 3
. 6 if.‘l: ='3
at:c=3_
(0 1y .
f&)={_sm (;) if x # 0
, Y 0 if x = (
at x = | |
f(x) = sinx forall x € R.
x? |
a ~ @ if 0 < x < a
f(x): 0 ifx=ﬂ
Q ‘f- ]
= if x > q
at x = g

Determine the points of continuity of the function f@x) =x2-[2] for

all x € R o ¥y
Discuss the continuity of x - | x| atx = 1.

10. Show that the function f:R—s R defined by

£0s) = {x | if x is irratimal
1-x if x is rational
is contjnuous at x = ‘2'1 .
/ g '
11. Showt{'_tattheﬁmcﬁnn f: ]0,1] — R defined by
: 1 |
@ = .

'8 continuous on ]0,1]. Is £ (x) bounded on this interval ? Explain.
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7 = if x # 0.
g 12, Let  f(x) = - .cns (:r) it x# 0
| . 2 - ifx=0

Is f continuousat x = 0?

1 . 1 . | ‘
APT) Let f(x) = {(’f a) sin (i_a)lfitj x%a

I

- i

Tul -

l 0 if Y
B Discuss the continuity of f at x = a
NN & U
14. Let f&):{“““(x) B
- | 0 if x = 0
Show that f is continuousat x = 0 |
‘%15 Let f(x) = [x“ sin (%) ifx #0
35 0 if x =0
4 Discuss the mnt.multy of f at x = 0.
_f ) Let fi) = 1% sin (%) if x # 0
b | L0 if x =0
3 Discuss the continuity of f at x =0
' 17. Find ¢ such that the function :
: 1- Vx | L/
f(x)={x_1 if 0<x<1
C | if x =1

_ 18 continuous forall x € [ 0,1 ]
' In Problems 18- 20, find the points of discontinuity of the mven function

x+4 if -6<x < -2

..13. f(:l:): X if =2 < xr < 2
x-4 if 2<x< 6

| x* if x < 1~
19, g(x]:{-4s—x’ ifl<x<H
6x* + 46 if x > 10
X+ 2 if 0sx <1
20, f(o) = { if 1<z <2
: xX+5 if 2<2x2x <3
21, Find constants a and b such that the function f defined by

x® if x <« -1

_f(:):{u::+b if -1 <x <1
x%242 ifx 21
is continuous for all x.
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Find the interval on which the given function is cnntinunus..? __;',_5_
points where it is discontinuous. (Problems 22-26) :

fx) =

x2-5
22. f(x) = e
24, f(x) = S-‘:."

28 £ sinx if x <
[ ] x = .
cosx ifx> /4

23.

25.

n/ 4

f(x)'= tan x

In Problems 27 - 34, examine whether the given function is continuous

atx =0
(1+30)" ifx#0
27. fx) = .2 e w B
- (a+o™  ifx#0
28. f(x) = B a9
. (1+20)” ifx# 0
- 'f(f) 1 e’ | if x = 0
N o ifx# 0
. -—
30. f(x) 1 | .
o ei.y,
31. f(x) = 1+e if x # 0
1 if x =20
r Elfﬂ ‘
32. f(x)=*}e”‘2-1 if x # 0
. if.‘!:_:
sin 2x . |
8. fx) = { = iz 0
' 1 if x =0
sin 3x g
. if x # 0
31, f) = ;m 2x
'*‘ 3 ifx =0
/55, Let f(x) =2 and
| -4 if x <0
(x) = |
' | x-4] if x > 0.

Determine whether fog and gof are continuousat x

0.
)
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